                                     Terms and symbols, 

                                                                     used in the calendar

 

Natural cycles:

- natural solar sutki (day + night) - a time interval between two consecutive same culminations of the natural Sun centre 

at daily rotation of the Earth around its own axis.

    Owing to non-uniformity of the year movement of the Earth on an orbit, and also non-perpendicular  of  Earth axis to 
a plane of its orbit the natural solar sutki duration are changeable  within one year.

- natural tropical year = 365,242192 natural solar sutki - a time interval between two consecutive passages the centre of 
the natural Sun  through the East equinox's point at annual  movement of the Earth on an orbit. 

- solar Meton cycle = 19 solar years = 6939,6017 sutki - the period of time, practically equal to the lunar Meton cycle, i.e. 
235 lunar sinodic months (6939,6883 sutki ), 

- solar Grand Meton cycle = 341 solar Meton cycles = 6479 solar years = = 2 366 404,2 sutki - the period of time, after which 
the Earth and the Moon (on the Southern solstice day) come back to the initial position concerning the Sun,

- mean lunation (mean lunar sinodic month) = 29,5305888531 sutki – the mean value of the time interval between two 
consecutive identical phases of the Moon,

- lunar year = 12 (13) mean lunations – the time intervals according to types LYA, LYB, LYC,
- lunar Meton cycle = 235 mean lunations = 6939,6883 sutki – the period of time, practically equal to the solar Meton cycle, 
i.e. 19 solar years (6939,6017 sutki ), 

- lunar Grand Meton cycle = (341 х 235 – 1) mean lunations = 2 366 404,2 sutki – the time interval, after which the Earth 
and the Moon (on the Southern solstice day) come back to the initial position concerning the Sun.

- 1 precession cycle = 25 796,178 solar years (tropical) is the period of movement the Earth axis on the cycle cone about 
stars (precession). In the World Dual PETIN– METON Calendar the influence of precession is taken into account by 
means of the solar years (tropical).

- d - the drift of the lunar cycle relatively the solar cycle.

          (6939,6883 – 6939,6017) sutki                    sutki                           sutki

 d = ------------------------------------------- = 0,00456  ------- (or 0, 0866 ---------------- )

                      19 solar years                                       year                     Meton cycle

Calendar cycles:

а) solar calendar:

- mean Sun - on the Earth's equator the fictitious point moving within the year in regular intervals with such speed, that  it 
always passes through the Eastern equinox point  simultaneously with natural the Sun,

- mean solar sutki = 1 mean sutki (further: sutki) - a time interval between two consecutive same daily culminations of the 
mean Sun, 

- calendar tropical year (further: tropical year) = 365,242192 sutki - a time interval between two consecutive passages of 
the centre of the mean  Sun through the Eastern equinox point.       

      Its duration slowly changes and equal to 
365,24219879 - 0,0000000614 (N- 1900) mean solar sutki,

where: N - the current year.

- Equation of time - a difference between the mean and natural solar sutki.  

The Equation of time continuously varies.
      Four times in the each year, namely: about April 16, June 14, September 1 and December 25 the Equation of time is 
equal to zero and achieves the greatest value (on absolute size) 4 times:

          About February 12 - ....     + 14,3 minutes, 

                               May 15 - ....   -   3,8 minutes, 

                               July 27 - ….   +  6,4 minutes and 

                     November 4 - ….    -  16,4 minutes,
- solar month - a time interval determined, for example, by the Gregorian solar calendar, 

- week = 7 (or 8) days – an  industrial cycle, i.e. 5 days of work and 2 (or 3) days for rest, 

- weekdays can be named, for example, in the following way: Monday, Tuesday, Wednesday,   Thursday, Friday, Saturday, 
Sunday, Lunaday.   Weekdays are synchronized with phases of the calendar mean Moon, 

- solar year = 365 sutki,

- solar leap-year = 366 sutki,

- an intercalary day = 1 sutki,

- solar Meton cycle МА = 19 solar years = 6940 sutki,  

- solar Meton cycle МВ = МА - 1 sutki = 6939 sutki , 

- solar Grand Meton cycle GMet = 6479 solar years = 2 366 404 sutki.

Note. In the  World Dual PETIN-METON Calendar the rules of the solar (seasonal) 
calendar correspond to the rules of the Gregorian Calendar. 
b) lunar-solar calendar:

- sutki - the period of time equal to the mean solar sutki, 

- week (short) = 7 sutki,

- week (long) = 8 sutki,     

- weekdays can be named, for example, in the following way: Monday, Tuesday, Wednesday, Thursday, Friday, Saturday, 
Sunday, Lunaday, 

- lunation (long) = 7+8+7+8 = 30 sutki = LA - a time interval between two consecutive identical phases of the calendar 
mean Moon cycle (=29,5305888531 days), approximated to an integer to the greater side,

- lunation (short) = 7+8+7+7 =29 sutki = LB - a time interval between two consecutive identical phases of the calendar 
mean Moon cycle, approximated to an integer to the smaller side,

- weekdays are synchronized with the phases of the calendar mean Moon. 

- lunar year (short) = LA+LB+LA+LB+LA+LB+LA+LB+LA+LB+LA+LB = 
                                                         = 354 sutki = LYA,

- lunar year (leap)    = LA+LB+LA+LB+LA+LB+LA+LB+LA+LB+LA+LA = 
                                                         = 355 sutki = LYB,

- lunar year (long) = LYA + LA   = 384 sutki = LYC,

- lunar Meton cycle (long) = 235 natural  lunations = 
                                 =LYB+LYA+LYC+LYC +

                                + LYB+LYA+LYC+LYA +

                                + LYB+LYA+LYC+LYC +

                                + LYB+LYA+LYC+LYA +

                                + LYA+LYA+LYC = 6940 sutki = МА, 

- lunar Meton cycle (short) = 235 natural lunations =
                         =LYA+LYA+LYC+LYC +

                                + LYB+LYA+LYC+LYA +

                                + LYB+LYA+LYC+LYC +

                                + LYB+LYA+LYC+LYA +

                                + LYA+LYA+LYC = 6939 sutki = МB,

- correcting lunar Meton cycle = (235 - 1) natural lunations = 
                         = LYB+LYA+LYC+LYC +

                                 + LYB+LYA+LYC+LYA +

                                 + LYB+LYA+LYC+LYC +

                                 + LYB+LYA+LYC+LYA +

                                 + LYA+LYA+LYA = 6910 sutki = Мcorr,

- base lunar cycle    = MA+MB+MA = 20 819 sutki = MetАВА,

- lunar Hipparh cycle  =3 MetАВА + MA + 2 MetABA = 
                                                              = 111 035 sutki = HA

- lunar Petin cycle      = 4 HA = 444 140 sutki = PA,

- lunar Palmen cycle = HA + MetABA + Mcorr + MA = 
                                                        = 145 704 sutki = Palmen

- lunar Grand Meton cycle =3 PA + Palmen + 2 PA = 
                                                    = 2 366 404 sutki  = GMet.

- accuracy of a lunar-solar calendar (+/- 1,4 sutki) – the maximal time misalignment between the moment of the top 
culmination of the centre of the natural mean Moon and midday   of any calendar Date on the chosen 
long time interval.
